= A
N = 0 &8 AFH Y & A AN
20188 &= = 1 35 detaH AL
2N A&
H: =S A
Sel: gEEXSA XNE % I (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
Ha 59,472,567 48,735,928 10,736,639
=2 3,236,000 1,400,000 1,836,000
Xl 17,692,500 17,656,500 36,000
[= 2,755,500 2,772,000 A 16,500
2 35,788,567 26,907,428 8,881,139
Y= FH 859,290 859,380 A90
YR A L F 859,290 859,380 A90
e 1L 859,290 859,380 A 90
101 Q124 H 91,600 79,321 12,279
04 JI2H2R2IEE S 91,600 79,321 12,279
Od=H 82X o2 51,550 39,271 12,279
—olgo 49,560,000 49,560 36, 144 13,416
—DNEMBEE 1,990,000 1,990 3,127 A1,137
201 LBt 22,158 3,400 18,758
03 B A2 G H 18,758 0 18,758
O2F =X (24 18,758,000 18,758 0 18,758
401 AlEHIZ =Y 745,532 776,659 AB31,127
01 Al&HI 738,822 768,271 NA29,449
OdFHNS XA 738,822,000 738,822 768,271 A29,449
03 Al & 2 HH 6,710 8,388 A1,678
OdFEIA XA 6,710,000 6,710 8,388 A1,678
st AS0HE 23,674,652 18,630,090 5,044,562
=2 2,986,000 1,150,000 1,836,000
Xl 7,123,000 7,123,000 0
< 1,093,500 1,379,000 A 285,500
2 12,472,152 8,978,090 3,494,062
=Q MAD|EHAIA B = 2,765,000 2,965,000 A200,000
Xl 2,188,000 2,188,000 0
[=4 173,500 233,500 A60,000
2 403,500 543,500 A 140,000
=R =5y &7 0 200,000 A200,000
[=4 0 60,000 A60,000
2 0 140,000 A 140,000
401 AlZHIZ =2 0 200,000 A200,000
[= 0 60,000 260,000
2 0 140,000 A 140,000
01 Al&HI 0 198, 560 A 198,560
OZHEZAY 0 198, 560 A 198,560
—EgP =53 &7 o 0 198,560 A 198,560
[=4 0 60,000 A60,000
2 0 138,560 A 138,560
03 Al & S HH 0 1,440 A 1,440
OZHEZAY 0 1,440 A1,440




2N
X ZH -
L= B

el

SA- - H2A(3A) - MM - BES Ol &k of JNEH HRs2
| | —Eg7 =58 &1 0 0 1,440 A 1,440
SE 84HY 5,721,710 5,721,710 0
Xl 3,975,000 3,975,000 0
= 268,000 268,500 A500
2 1,478,710 1,478,210 500
I ZMENTIH(SHES)-ARRESEESNY 1,550,000 1,550,000 0
X 1,085,000 1,085,000 0
= 139,000 139,500 A500
2 326,000 325,500 500
401 A HI L S THYI 1,550,000 1,550,000 0
X 1,085,000 1,085,000 0
= 139,000 139,500 A500
2 326,000 325,500 500
01 Al&H 1,544,420 1,544,420 0
OXAL NS H A 1,544,420 1,544,420 0
—AFA2 SESHNLAIY  1,544,420,000 1,544,420 1,544,420 0
X 1,085,000 1,085,000 0
= 139,000 139,500 A500
2 320,420 319,920 500
F2AEE 22 15,187,942 9,943,380 5,244,562
2 2,986,000 1,150,000 1,836,000
X 960,000 960,000 0
= 652,000 877.000 225,000
2 10,589,942 6,956,380 3,633,562
UrT RA B 72,935 37,000 35,935
206 T 2| 35,000 0 35,000
01 M2l 35,000 0 35,000

O8Y L+J| ¥ ¥+54 2

875,000 *40CH 35,000 0 35,000
401 AEHI L2 THYI 21,935 21,000 935
01 Al&HI 21,935 21,000 935
OnEY+& X2 21,935,000 21,935 21,000 935
B+ Sz 196,127 191,500 4,627
401 AIEHI L S THYI 144,627 140,000 4,627
01 Al&Hl 144,627 140,000 4,627
Oti+& eteg 22| 144,627,000 144,627 140,000 4,627
sSIEALE 22 8,475,880 4,334,880 4,141,000
201 et A Y| 90,560 30,560 60,000
01 At 22l 90,560 30,560 60,000
OBIE 2= (HHl) L2 8000002 «5CH*15L 60.000 0 60,000
401 A EHI L2 THYI 8,291,000 4,210,000 4,081,000
01 Al&HI 8,228,684 4,175,350 4,053,334
OO0l L& &3 87,500,000 x4 £ 350,000 0 350,000




2N
X ZH -
L= B

el

e (3A) - NRAY - BYS 0] &b 2 p/E-T HDE2
O& =58 dxMZ 200,000, 000& 200,000 0 200,000
OXM=Xl &4 ¥ MEH
22,500,000 =109 2 225,000 0 225,000
OXlote JHeg 2 22 &R
30,000,000 =109 A 300,000 0 300,000

Oel=0ts =8+ AZJHISAM

39,568,000 39,568 0 39,568
OZXNEEUXNT = =82 WHIA

29,676,000 29,676 0 29,676
Odla2 AKX ELAY 15,000,000& 15,000 0 15,000
O28 2= E2 FHISA 15,000,000& 15,000 0 15,000
Ougs =2 Ui 15,000,000& 15,000 0 15,000
OL=3123 =22 WHIA 16,000,000& 16,000 0 16,000
OgIAFX AFMHAA DX SAH 24,730,000 24,730 0 24,730
OUlgs=+2 FHISA 29,676,000 29,676 0 29,676
OBEUE E+2 HHUISA 24,730,000& 24,730 0 24,730
ORsS(IMIF) dEEE+2 HUIS A

19,784,000& 19,784 0 19,784
OBtz 2t €= E=2 JHISAM

19,784,000& 19,784 0 19,784
OZ4 LES(RM)H+=2 HUISA

29,676,000& 29,676 0 29,676
OZd Hiegg= E+2 MHEISA

29,676,000 29,676 0 29,676
Ot HE SHE AZELEISAM

15,000, 000& 15,000 0 15,000
Otz MEIAY S22 HHISA

29,676,000& 29,676 0 29,676
Olist Eti=2 ZHISA 69,370,000& 69,370 0 69,370
Offer2s OrsSoHE Y S22 FHISA

49,460,000 49,460 0 49,460
Odtel1z dME T2 HHISA

99,100,000& 99,100 0 99, 100
OHY dels =2 ZHISAM 29,676,000& 29,676 0 29,676
O8Y X220t E=2 JHISAM

29,676,000 29,676 0 29,676
O8817 A4S Ei+==2 HHISA

39,568,000& 39,568 0 39,568
O=8E Eti=2 ZHI3A 59,460,000& 59,460 0 59,460
OL217 M==Xl 20l EX3A

10,000,000& 10,000 0 10,000
Ogd= =2 HHIZA 10,000, 000& 10,000 0 10,000
OEFE =2 WHMIA 15,000,000& 15,000 0 15,000
Og=27 MEDOIS% =2 WX SA

39,568,000& 39,568 0 39,568
OEIF =2 SELIAY 39,568,000& 39,568 0 39,568
Ooted=sZ SEZHIA 39,568,000& 39,568 0 39,568




2N
X ZH -
L= B

el

I GRA(A) - HRAMY - BES 0l &k o4 0% o Hl D&
Odtg =2 &XIZAt 39,568,000& 39,568 0 39,568
OuWE =2 &AXZA 39,568,000 39,568 0 39,568
O eli=%s 2 FHISA 15,000,000& 15,000 0 15,000
OFse%E Ex2 E=3AM 39,568,000 39,568 0 39,568
OZ0Hotel s 2g=s2 HE 3 A 15,000,000 15,000 0 15,000
OA=M=R ELSA 15,000,000& 15,000 0 15,000
Od=M=XE =2 HX3A 15,000,000& 15,000 0 15,000
O&t= M=kl =& 3A 15,000,000& 15,000 0 15,000
O2M MENSY MES Etix==2 EXSA

29,676,000 29,676 0 29,676
OZEHE =2 ZHI3A 19,784,000& 19,784 0 19,784
O=8 s34 ExAE EX3A

34,622,000 34,622 0 34,622
OSXNXNRA(MUINZY) =2 FUISA

29,676,000 29,676 0 29,676
O8siz 2 Ex3A 19,784,000& 19,784 0 19,784
OgHiotS (022 7) =2 FHI3A

19,784,000& 19,784 0 19,784
OR=0I2 AFANAYE & S22 E=ZA

39,568,000 39,568 0 39,568
OZAX7 =2 JtEd g X3 A

24,730,000& 24,730 0 24,730
OALS XA (DISELR) s HEZEIA

39,568,000& 39,568 0 39,568
OAME XA (H==ZY) =2 ELIA

15,000,000& 15,000 0 15,000
O2dlX7 EFZ HEF=ZA 39,568,000& 39,568 0 39,568
O2g 2 MLIA 39,568,000& 39,568 0 39,568
OFotXl= =2 EX3A 39,568,000 39,568 0 39,568
OHE Et==2 X ZA 39,568,000& 39,568 0 39,568
OFE Eti==2 ZHIZA 10,000, 000& 10,000 0 10,000
OHRS JAFIAZ WL EXSA

19,784,000& 19,784 0 19,784
OggdAgX =& FHIAMY 19,784,000& 19,784 0 19,784
OO AFX Ex3At 29,676,000 29,676 0 29,676
OFXNAFTA B IHLISA 24,730,000 24,730 0 24,730
OgYdE BASA 39,568,000 39,568 0 39,568
ONE FHYEEx & =2 HHISA

29,676,000 29,676 0 29,676
Ol=EtH+=2 ZHISA 29,676,000 29,676 0 29,676
Ogets =2 EX3 At 39,568,000& 39,568 0 39,568
O%=x =2 &AXZA 39,568,000 39,568 0 39,568
OF&EZ2 =2 X ZA 39,568,000& 39,568 0 39,568
OEs 2 HEFSAM 29,676,000 29,676 0 29,676
OXEsE 2 HE=3A 44,514,000 44,514 0 44,514




2N
X ZH -
L= B

el

SN B SR(EH) - MBAY - BES 0l &t o p/E-T HDE2
OSel ¥S 845 MNBL2ZAF 44,514,000 44514 0 44,514
O&=2 ¢S 842 HB4TA 39,568,000 39,568 0 39,568
OME 24T R A 39,568,0002! 39,568 0 39,568
OTBE L QBE +24% L HEFZA

24,730,000% 24,730 0 24,730
OFM HYB H22BA 15,000,000 15,000 0 15,000
OAUWBARK =58 HZEASBA

34,622,000 34,622 0 34,622
OIS =5 42 W& ZA

39,568,000% 39,568 0 39,568
OS20I2 NAFH L S2EZBA

29,676,000 29,676 0 29,676
OSI0t8 Y+ FHIBA 10,000,000% 10,000 0 10,000
OMTOS ¢ BHA Y SXUBA

19,784,000% 19,784 0 19,784
OXMOIS ABM 2 WL Z A

29,676,000% 29,676 0 29,676
OHIDIDLE SHI4=2 FHIZ A 19,784,0008 19,784 0 19,784
OSIADIE & MYZ HXBA 15,000,008 15,000 0 15,000
OSMHHHI S4+2 HHIZ A 39,568,000 39,568 0 39,568
ONT 842 ZHIZA 5,000,000 15,000 0 15,000
OYSZ 42 FHIBA 19,784, 0002 19,784 0 19,784
O2SE 842 BHSA 59,460,000 59,460 0 59,460
OWFEE S+T12 THBA 19,784,000% 19,784 0 19,784
OMDIE SHI+2 FHIZ A 15,000,000 15,000 0 15,000
OFOIL F¥ SHLE FUIZA

49,460,000 49,460 0 49,460
ONE27 SYU+2 ZLIA 10,000,008 10,000 0 10,000
OJE22 8K ALI RMEBA 19,784,0002 19,784 0 19,784
Ost D22 42 MHIZ A 29,676,0008 29,676 0 29,676
O2H27 42 FHIBA 15,000,000 15,000 0 15,000
OHLHT 842 FHIBA 29,676,000% 29,676 0 29,676
O#=H4X M J2LYZ A 25,000,0008 25,000 0 25,000
OAWM4X Kg J2tLYIA 25,000,000 25,000 0 25,000
OMMM4X Hg J2LYIA 25,000,000 25,000 0 25,000
OUAB SE2HTHTA 89,190,000 89,190 0 89,190
0N SH+Z ZHIAY 39,568,00024 39,568 0 39,568
OJIEIOIS 842 HUIZA 39,568,000 39,568 0 39,568
ORAE SHHZ FHIZ A 49,460,000% 49,460 0 49,460
OHIX T S4AE B4B A 29,676,0008 29,676 0 29,676
OSMOIE S4AE BB A 19,784,0009 19,784 0 19,784
OBIINT(ABNY) 842 F|

24,730,0002 24,730 0 24,730
ONIZOIS(YBS2Y) 42 Il

24,730,000% 24,730 0 24,730




2M: A4
HHM: It AS0HH
SRl S=2AIE 2 22 (9 ® =)
SAH M -H2A () - MEAY - BES Ol A o4 Iy Hws2
03 Al 2 0H bl 62,316 34,650 27,666
O30l Y& Z2ZHHISA
40,000,000& *1.08/100 432 0 432
OZXNFeUXN?R =& S22 WAHIA
30,000,000& *1.08/100 324 0 324
OL=48X HMAA HXI3A
25,000,000& *1.08/100 270 0 270
Ollg=s=+=2 FHISA 30,000,000& *1.08/100 324 0 324
OBEUE 42 HUISA
25,000,000& =1.08/100 270 0 270
Ous(IXF) S4sE E+= HHUISA
20,000,000& *1.08/100 216 0 216
OBIE3 2 EE E+2 FHISA
20,000,000& *1.08/100 216 0 216
OEA LS (R0H)HHEZ HHIZAM
30,000,000& =1.08/100 324 0 324
OZd = 822 HEXSA
30,000,000& =1.08/100 324 0 324
O AMEIAY SHI+Z HHI S A
30,000,000& =1.08/100 324 0 324
Oliist Eti+=2 HUIS A
70,000,000&*0.9/100 630 0 630
Obfer27 ors0I2Y L+ HUISA
50,000,000& =1.08/100 540 0 540
Oodtel7 A/ME T2 HUISA
100,000,000&*0.9/100 900 0 900
OHYd Mels 22 FJHISAM
30,000,000& =1.08/100 324 0 324
OgYd X202 E+2 FHISA
30,000,000& =1.08/100 324 0 324
O8%&17 AE EW =2 HUISA
40,000,000& =1.08/100 432 0 432
OREE Ei+==2 HUISA
60,000,000&*0.9/100 540 0 540
Og=27 MEDOISY == D3 A
40,000,000& +1.08/100 432 0 432
ORI 52 LAY
40,000,000& +1.08/100 432 0 432
Odtg=sg SZLES A 40,000,000 *1.08/100 432 0 432
Oodte B2 X 3A
40,000,000& *1.08/100 432 0 432
OuWE =2 AX3A
40,000,000& *1.08/100 432 0 432
OHSUE 42 BEF+3A
40,000,000& *1.08/100 432 0 432
O2AN HE0I22 HMES Et=2 X3 A
30,000,000& *1.08/100 324 0 324
OAHE 42 HUISA

20,000,000 *1.08/100 216 0 216




2N
X ZH -
L= B

el

CHE - EI(BA) - NRAY - BYS

Off &t 24

O=s s3X ExAE EX3AM
35,000, 000& «1.08/100
HUXE) =2 U3 A
30,000, 000& *1.08/100
O=ss8X7 82 E+3AM
20,000,000% +1.08/100
Ogtiot= (02 +) =2 FHI3A
20,000,000% +1.08/100
ORZ0t2 2F[XNAE & =2 23 A

40,000, 000& *1.08/100

OEXXZ(3

40,000, 000& *1.08/100

OFctXl= Et+=2 EXISA
40,000, 000& *1.08/100

40,000, 000& *1.08/100
OURS JAFIAZ ML EXSA

20,000,000% +1.08/100
OddARX =& FHIAMY

20,000, 000& *1.08/100

OOt AR E=23At 30,000,000& *1.08/100
OFXNAFTXN ELHESA

25,000,000% *1.08/100

O BLBA 40,000,0002 *1.08/100
ONE YR 24 L 22HYIZA

30,000,000 *1.08/100
Oll= Eti==2 FHISA
30,000,000 *1.08/100
40,000,000 *1.08/100
40,000,000 *1.08/100
40,000, 000& *1.08/100
t
30,000,000 *1.08/100
,000,000& *1.08/100

,000,000& *1.08/100

40,000,000 *1.08/100

378

324

216

216

432

270

432

432

432

432

432

216

216
324

270
432

324

324

432

432

432

324

486

486

432

378

324

216

216

432

270

432

432

432

432

432

216

216
324

270
432

324

324

432

432

432

324

486

486

432




2 A4
M s AS0HE
©e s2lAlEE 2l (9 ® =)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
OMNE S=Z HESZA
40,000,000& *1.08/100 432 0 432
OFes 9 AEsS 24X L HEFSA
5,000, 000& *1.08/100 270 0 270
OAUHBARA =Y HMEELSA
35,000,000& *1.08/100 378 0 378
OmoItte =&=+2 MHEXSA
40,000,000& *1.08/100 432 0 432
OS20t2 NEEH L s2XZ&3A
30,000,000& *1.08/100 324 0 324
OuF0ts & SAHE HYE HAXSA
20,000,000& *1.08/100 216 0 216
OXUOtS AU 2 HEXISA
30,000,000& *1.08/100 324 0 324
OHloIotE =2 JHIS A
20,000,000& *1.08/100 216 0 216
OZWbIl E2+=2 HHISAM
40,000,000& *1.08/100 432 0 432
Oogsd 82 JHI2AM
20,000,000& *1.08/100 216 0 216
Oz 42 LM3AM
60,000,000 *0.9/100 540 0 540
OMEE &22 WHSA
20,000,000& *1.08/100 216 0 216
OFOlIA =8 StH+2 FHIZA
50,000, 000& *1.08/100 540 0 540
ONs24F7 X HI| WHBA
20,000,000& *1.08/100 216 0 216
OS2 =2 FHISA
30,000,000& *1.08/100 324 0 324
OdeH17 82 HHIZ2M
30,000,000& *1.08/100 324 0 324
ONaZ s2EZISA
90,000,000& *0.9/100 810 0 810
OdE S22 FHIAL
40,000,000& *1.08/100 432 0 432
OJIEDS 842 HUISA
40,000, 000& *1.08/100 432 0 432
OFAMNES Eti=2 HEIS A
50,000, 000& *1.08/100 540 0 540
OYHiX? S2AE B3 A
30,000,000& *1.08/100 324 0 324
OSAOE S2AME B2 S A
20,000,000& *1.08/100 216 0 216
OBINXNR(L2RNY) E+2 Tl
25,000,000& *1.08/100 270 0 270
Oil20tS2(HB2=2F) =2 HH|
25,000,000& *1.08/100 270 0 270
THoH I E XIS (o2& H=Xl) 1,780,000 2,300,000 A 520,000




SN AL D
HE: 50 ASOHH
el 22AEe B CERED
SA-3H-S(3AH) - MRAS - BES Ol &F o4 INEH Hns2
= 830,000 T, 750,000 260,000
< 273,000 345,000 A72,000
2 617,000 805,000 188,000
401 N EHIL 2T 1,780,000 2,300,000 A520,000
2 890,000 1,150,000 260,000
< 273,000 345,000 A72,000
2 617,000 805,000 188,000
01 Al bl 1,768,624 2,291,720 523,096
O3B E A 1,768,624 2,291,720 523,096
— 22 MAAZHAN FHHAY
894,330, 0002 894,330 1,195,680 A301,350
2 450,000 600,000 150,000
= 135,000 180,000 45,000
= 309,330 415,680 106,350
2B WHAZHAT FHIMY
814,834,000%! 814,834 1,096,040 ~281,206
2 410,000 550,000 A 140,000
= 123,000 165,000 £42,000
2 281,834 381,040 £.99,206
— S MAAZ RN HHlAY
59,460,00024 59,460 0 59,460
2 30,000 0 30,000
= 15,000 0 15,000
2 14,460 0 14,460
03 A& S THHI 11,376 8,280 3,096
02 EE AL 11,376 8,280 3,096
~ 23 WHABK LK Fol At
900,000, 000! *0.63/100 5,670 4,320 1,350
2B WHAS KT FHIAM
820,000,000 *0.63/100 5,166 3,960 1,206
—5F WHABKAX Fol A
60,000,000 0.9/ 100 540 0 540
X0l 210 AbeS 450,000 1,400,000 950,000
< 135,000 420,000 285,000
2 315,000 980,000 665,000
401 NEHIL 2 THYI 450,000 1,400,000 950,000
< 135,000 420,000 285,000
2 315,000 980,000 665,000
01 Al bl 446,760 1,389,920 £.943, 160
OSHI B A 446,760 1,389,920 943, 160
—GI2XP YT HAAY i 0 496,400 496,400
= 0 150,000 £150,000
2 0 346,400 346,400
—&sX7 &= XM 0 0 297,840 A 297,840
= 0 90,000 £90,000
2 0 207,840 207,840
~QEXT Y2F SIAY  148,920,0009 148,920 297,840 148,920
< 45,000 90,000 45,000




2N
X ZH -
L= B

el

4 O ¥

=i,
o A=0otd
CIANlE =S 22l

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= 103,920 207,840 103,920
03 Al 2 T HI 3,240 10,080 16,840
OZHI X ALY 3,240 10,080 16,840
—SEXNT YA HAAY 02 0 3,600 ~3,600
—HEXNT YE HAAY 02 0 2,160 A2,160
—RTENT Y+ HAAY
150,000, 000! *0.72/100 1,080 2,160 A1,080
THOHIB KX O FECHBEIR) 60,000 80,000 20,000
< 30,000 40,000 10,000
2 30,000 40,000 A10,000
401 Al EHI L 2O 60,000 80,000 £20,000
< 30,000 40,000 10,000
2 30,000 40,000 A 10,000
01 Al H 60,000 80,000 £20,000
OZH2EAY 60,000 80,000 £20,000
—HEANAX HLGMAG 02 0 20,000 £20,000
= 0 10,000 10,000
2 0 10,000 A 10,000
SBUHI S NL ALY 553,000 0 553,000
= 96,000 0 96,000
< 142,000 0 142,000
2 315,000 0 315,000
401 Al EHI L 2O 433,000 0 433,000
< 130,000 0 130,000
2 303,000 0 303,000
01 Al 433,000 0 433,000
OTHI X At 433,000 0 433,000
—QAB HEXP BRH SANLAY
150,000,000 150,000 0 150,000
< 45,000 0 45,000
2 105,000 0 105,000
—QNB BEXD SSHH SANLAY
133,000,000 133,000 0 133,000
< 40,000 0 40,000
2 93,000 0 93,000
— MU 0SSXT SYHH SAHLAY
150,000,000 150,000 0 150,000
< 45,000 0 45,000
2 105,000 0 105,000
403 RXSHS201™ 120,000 0 120,000
= 96,000 0 96,000
< 12,000 0 12,000
2 12,000 0 12,000
02 BII 2 S0l Ch 8t X = & 2/ & At b 120,000 0 120,000
O=HI2EAY 120,000 0 120,000
— el XD BZUH SAHLAY
120,000,000 120,000 0 120,000




SN ALD
HE: S0 ASOH
el 2alAaE 2 (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
= 96,000 0 96,000
= 12,000 0 12,000
= 12,000 0 12,000
o =Xl bi==JHH 2,000,000 0 2,000,000
= 2,000,000 0 2,000,000
403 AXIHHSXH=0lA 2,000,000 0 2,000,000
= 2,000,000 0 2,000,000
02 SIS0 et dH==2AE AL 2,000,000 0 2,000,000
O=HIEx At 2,000,000 0 2,000,000
— ol SX+ ==& AL 2,000,000,000& 2,000,000 0 2,000,000
= 2,000,000 0 2,000,000
2 2EH 19,353,702 14,151,582 5,202,120
= 250,000 250,000 0
Xl 66,000 30,000 36,000
< 319,000 50,000 269,000
T 18,718,702 13,821,582 4,897,120
ge & 25 =2 11,531,000 9,305,000 2,226,000
= 250,000 250,000 0
Xl 66,000 30,000 36,000
S 319,000 50,000 269,000
[ia 10,896,000 8,975,000 1,921,000
HEO0IES 7 HA ALY 72,000 0 72,000
Xl 36,000 0 36,000
[ia 36,000 0 36,000
401 AIEHIZ 2 I 72,000 0 72,000
Xl 36,000 0 36,000
[ia 36,000 0 36,000
01 A& HI 71,352 0 71,352
OX L& SE 3 AL 71,352 0 71,352
—HEoEsRE LAY 71,352,000& 71,352 0 71,352
Xl 36,000 0 36,000
[ia 35,352 0 35,352
03 Al& £ CHHI 648 0 648
OXI L& SE 3 AL 648 0 648
— ORI0IBETY WA
72,000,000& *0.9/100 648 0 648
e, 2 &5 ¢ 22 6,980,000 5,295,000 1,685,000
401 AIEBI L 2 CHEI 6,980,000 5,295,000 1,685,000
01 A& HI 6,930,392 5,259,882 1,670,510
OXNgE 2& 2138 MHE==AY  99,100,000& 99,100 0 99, 100
OBaEsE MYTR AHANL SXTM
39,568,000& 39,568 0 39,568
OB SIE2(RE75H) SHHSIA
99,100,000 99,100 0 99, 100
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SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
OEN-C2GCz Jicag ZA2A
19,784,000%! 19,784 0 19,784
Otk A& SR ZHIAY 198,560,000 198,560 0 198,560
OJt0F BB NBCR(ZE1854) ZHBA
49,460, 000%! 49,460 0 49,460
OJ0F NS NYTR(RTNSH) HEFT
At 29,676,000%! 29,676 0 29,676
OO YEEX Y7 S2HY HSTM
99, 100,000%! 99, 100 0 99, 100
OOtZ otelm Jb2t ZBA  19,784,0008 19,784 0 19,784
OB2 247 T2 HEFZA
198,560,000 2 198,560 0 198,560
OH= 223546 FHSMBA  15,000,0009 15,000 0 15,000
O =202 Y2 HENSBA
49,460, 000%! 49,460 0 49,460
O 23012 VYTZ HHAZM
69,370,000%! 69,370 0 69,370
O3 sF(REI1EH) HEYY LI
19,784,002 19,784 0 19,784
OFS 22 HUER =7 &XTA
49,460, 000%! 49,460 0 49,460
ONE SSC2(2E35H) 42 FUISA
19,784,000% 19,784 0 19,784
OMIt S22 S(REH5H) T2 HETHBA
198,560,002 198,560 0 198,560
O&It YH-S2(RE7EH) I T MB A
29,676, 000%! 29,676 0 29,676
O&} ot XSOHS NYT2 HWEIFIA
34,622,009 34,622 0 34,622
O&J SHDHE2-HSIY AT &S A
34,622,000% 34,622 0 34,622

198,560, 000& 198,560 0 198,560
o8 EXN&AHel A=HHIZBA 39,568,000 39,568 0 39,568
O8z HMU4EZ =2 HUISA
29,676,000& 29,676 0 29,676
O8F &322 =37 E=2A 29,676,000& 29,676 0 29,676
03 Al 2 THHI 49,608 35,118 14,490
OXge 2k 23 HE=AY
100,000, 000& *0.90/100 900 0 900
OYd=sE Y2 AMAIE X ZA
40,000,000% *1.08/100 432 0 432
Ost SAZZ(ZET78H) 8IS A
100,000, 000& *0.90/100 900 0 900
OSAH~E3E2 JtEd Y XS A
20,000, 000& «1.08/100 216 0 216

OJt0F AFE H=TH EHIALY
200,000,000& «0.72/100 1,440 0 1,440
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SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
OJI0F Bal17 NBCR(251850) ZH2A
50,000,000 *1.08/100 540 0 540
Ot BXE FYCR(ZE5H) HEEI
A 30,000,0002! *1.08/100 324 0 324
O02 ST Y7 C2HY HBM
100,000, 0002 *0.90/ 100 900 0 900
OOZ BHEIm 242t =T A
20,000,000 *1.08/100 216 0 216
O8= 24P T2 HLFIA
200,000, 0002 %0.72/100 1,440 0 1,440
OH™ 23012 VY2 WSS
50,000,0002! *1.08/100 540 0 540
OFY 2202 VYEE HEBM
70,000, 00024 %0.9/100 630 0 630
OB SF(REI5H) HEYY SXBA
20,000,0002! *1.08/100 216 0 216
OBY 4@ BUER 57 SXTA
50,000,0002! *1.08/100 540 0 540
ONE SSC2(ZE3EH) a2 ZHIBA
20,000,0002! *1.08/100 216 0 216
OMI} S2-SS(REB5H) €2 LTI
200,000, 0002 *0.72/100 1,440 0 1,440
OMI E-S2|(RETEH) HETMBA
30,000,0002! *1.08/100 324 0 324
OXJ} 3B NSOS MYT2 HEZZA
5,000,0002! +1.08/100 378 0 378
OMJ} SIRIUE-HEZH ATEXBA
35,000,0002! *1.08/100 378 0 378
O8F BUGCR(2E245) HEFBA
200,000, 000% *0.72/100 1,440 0 1,440
O8F 8X&NH2l ATHHIBA
40,000,0002! *1.08/100 432 0 432
OBF HMUE2 4z HUIZA
30,000,0002! *1.08/100 324 0 324
OB% £252 57 2234
30,000,0002! *1.08/100 324 0 324
£S8D F¥ ECHIAMY 69,000 0 69,000
< 69,000 0 69,000
401 AIEHI L 20 69,000 0 69,000
< 69,000 0 69,000
01 A&t 68,379 0 68,379
THIEF ALY 68,379 0 68,379
~ 2S5 F¥ BCHIANY(BE, H3)
68,379,000 68,379 0 68,379
= 68,379 0 68,379
03 Al = Ch bl 621 0 621
OSHIB E ALY 621 0 621
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—xsotw 39 BCANAY (B, 92)
69,000,000 %0.9/100 621 0 621
= 621 0 621
SHMY T2 HTIHTA 400,000 0 400,000
= 200,000 0 200,000
2 200,000 0 200,000
401 A& H L 20l 400,000 0 400,000
= 200,000 0 200,000
2 200,000 0 200,000
01 Al&Hl 397,120 0 397,120
OZHI XA 397,120 0 397,120
—S4-MATET SHEIIJA 397,120,0008 397,120 0 397,120
= 200,000 0 200, 000
2 197,120 0 197,120
03 Al& 2 THHI 2,880 0 2,830
OGHI XA 2,880 0 2,830
—2H-MATE HTRIA
00,000,000 *0.72/100 2,880 0 2,880
SOHECR HEE 6,985,000 4,030,000 2,955,000
SHEC2 25 2 2e 6,985,000 4,030,000 2,955,000
401 A EHI L2 O 6,985,000 4,030,000 2,955,000
01 Al 6,927,715 3,998,626 2,929,089
OSOHET2 23 HELAY 297,840,008 297,840 0 297,840
OB& o2-YotS(SE3015H) SHEHIA
9,568,000% 39,568 0 39,568
OBH ABCE2(5E3015H) HHBLTA
29,676,000 29,676 0 29,676
OZ4 2227 NYTE =7 LB A
19,784,000% 19,784 0 19,784
OZ24 2 ZM0IS JYE 2DY FHISA
49,460,000 49,460 0 49,460
024 ATHR~EHE AT SXIM
49,460,000% 49,460 0 49,460
024 HY AX0IS HYE S TJAH(ROP
2+) 198,560, 0002 198,560 0 198,560
O HEC2(T2E2%3) HCYYL SXB
At 10,000,000% 10,000 0 10,000
OR4 MRE2 HEXBA 99,100,00084 99,100 0 99,100
OJtOF HE'E D b2t FHIB A 99,100,000 99,100 0 99,100
OO0k AEE2(21E2078) HEHBA
198,560, 0002 198,560 0 198,560
OJI0F JH&ED 2 142 BEEE BATBA
39,568,00024 39,568 0 39,568
OJ0F O F D FHI 2 Al 49,460,00094 49,460 0 49,460
OJHOF SHOIAHAEIDIY QI S HHIB A
297,840,000 297,840 0 297,840
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Off &t 24

OJI0F Ol 8-788 U6 BaGe Sol2A
15,000,000%! 15,000 15,000
OJtOF Oh3t27 RNYZ MEIIA
29,676,000 29,676 29,676
OJI0F BHE-2HER JCaY LXBA
24,730,000 24,730 24,730
OJt0F &0I27 NYZ MEIHTA
24,730,000 24,730 24,730
OJI0F JIE~EAEZ AHELZAHSE LA
& AL Q) 29,676,000 29,676 29,676
OOZ HH17 2 JYE HTITA
99,100,000 99, 100 99, 100
OO0l HA27 AFHD 2B A
29,676,000% 29,676 29,676
OOZ EZEZ AU SXBA
15,000, 0008 15,000 15,000
OOtZ RFOIS MYE HTHIA
99,100,000 99, 100 99, 100
OS2 QX7 NYCR OARIMNS)| B
=) 99,100,000 99, 100 99,100
OS= B2 AACR AZIMNDI| ETHIA
64,415,000 64,415 64,415
O82 Jlal 2II0t2 & HEWSBA
99,100,000 99, 100 99, 100
OZH 22 AFMAL HEYY LXIA
29,676,000 29,676 29,676
OZJ St4E2 AFAE SXBA
19,784,0009! 19,784 19,784
OM2 MEOS ¥ MNYTZ2 AFAIL SXB
A 59,460,000 59,460 59,460
O SHbtet)l HHEX 2 SHEZIA
49,460,00094 49,460 49,460
ON= 22012 MYGTR OHA2ANS)| Z&
=) 99,100,000 99, 100 99,100
OBY BSOS (5E3045) T2 HTZTA
99,100,000 99, 100 99, 100
Oe 22 JHCHY LX2DA
19,784,000%! 19,784 19,784
OHY YEXY2(2T01EH) HEFBA
39,568,000 39,568 39,568
ONZ 24-SUER FAZINDI| THIA
39,568,000 39,568 39,568
NE SHEE )Y 24 L WAHEXS
A 24,730,00094 24,730 24,730
OUY ANER H+z HUlISA
24,730,000% 24,730 24,730
OMJl SIBE2 T Y SX2A
24,730,000%4 24,730 24,730
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O olE S02cE HUET DA
44,514,00094 44,514 0 44,514
O3l HED-2E2 T2 HEFTA
99,100,000 99, 100 0 99, 100
OJtsl R®D 24 2LJA 69,370,000 69,370 0 69,370
OBF £¢ SHEC2 HTITAM
29,676, 000%! 29,676 0 29,676
OBZ HH ARMFYZ JtSaly SXIBA
19,784,000% 19,784 0 19,784
OBZF oiti2lal Y2 HTHTAM
29,676, 000%! 29,676 0 29,676
03 Al& 2 ThHI 57,285 31,374 25,911
OS0ECR A2 HBLAL
300,000, 0002 %0.72/100 2,160 0 2,160
OBH 23-YoS(SEI015H) HEZ DM
40,000,000 *1.08/100 432 0 432
OBH AR 2 (S5T015H) HHSLBA
30,000,0008 *1.08/100 324 0 324
O 2227 NYCR =7 &S
20,000,0002 *1.08/100 216 0 216
Os8 =3 FA0S Y2 2D JHIZA
50,000,0002 *1.08/100 540 0 540
ORN ATHR-FE2 AE SXTA
50,000,0008 *1.08/100 540 0 540
ORA Ha A0S TYR SHFTAH(EOD
2) 200,000,000 *0.72/100 1,440 0 1,440
ORN MHEZ HEIHBA
100,000, 0002 %0.9/100 900 0 900
OJtoF ALY D Jh2 HUIBA
100,000, 0002 %0.9/100 900 0 900
OJoF MEE 2 (21E2075) HEFBA
200,000,000 *0.72/100 1,440 0 1,440
OJt0F JHED 9 1A HEE2 BABA
40,000,0008 *1.08/100 432 0 432
OJtoF 01D FHIZ A
50,000,0008 *1.08/100 540 0 540
OJH0F SHOIABAEIDIY o & & HI 2 A
300,000, 0002 %0.72/100 2,160 0 2,160
OJt0F 327 Y2 HEFBA
30,000,0008 *1.08/100 324 0 324
OJtoF BHE-BYTR HCHY SXTH
25,000,0008 *1.08/100 270 0 270
OJt0F 0127 Y2 HEFIA
25,000,0008 *1.08/100 270 0 270
OJH0F HE~BHER ABHBLTA(SE DDA
& o AbeS ) 30,000,000 *1.08/100 324 0 324
O0Z FHI7 2% VYR HEFTA
100,000, 000! *0.90/ 100 900 0 900
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OO ZA27 A=A 222 A
30,000,000 *1.08/100 324 0 324
OOZ 7IOIS AYR HEZTA
00,000, 00024 %0.9/100 900 0 900
OSZ Q®27 TWAUCTZ OIARAMS)| T
=Y 100,000,000 %0.9/100 900 0 900
OS= B2 AACR HA2IMNDI| EHIBA
65,000, 00024 %0.9/100 585 0 585
O8= Jl2l 2102 ¢ HEHTBA
100,000,000 %0.9/100 900 0 900
O%H HFRE2 SHEAM JSAY LXBA
30,000,000 *1.08/100 324 0 324
OZ BEGER AFAL SXBAM
20,000,0002! *1.08/100 216 0 216
OMM NTOIS ¢ AUCR AFAL HXIB
A 60,000, 00024 %0.9/100 540 0 540
O%= ofHial MUHESK T2 SEYIA
50,000,0002! *1.08/100 540 0 540
OHZ 220i2 MYCTR ARUMS)| TF
2 A 100,000,000 %0.9/100 900 0 900
OB BSOS (5E3045) 2 HTZTA
100,000,000 %0.9/100 900 0 900

OFY =Mz e dX3A

20,000,0002! *1.08/100 216 0 216
OHe YEXYR(2T015H) HEFHIBA
40,000, 0002 *1.08/100 432 0 432
ONZE S£-SYGTR AN THIA
40,000,0002! *1.08/100 432 0 432
ONZ SYT2 IS B4 L WHEXS
A 25,000,000 *1.08/100 270 0 270
O ANE2 a2 FHI2A
25,000,000 *1.08/100 270 0 270
O&J} SHBE2 JHSaY X2 A
25,000,000 *1.08/100 270 0 270
OMJt 518 SHETR BT A
45,000,0002! *1.08/100 486 0 486
O3l Q2W-QE2 T2 HTHTA
100,000,0002 x0.9/100 900 0 900
018 2ED 24 LADA
70,000, 0002 %0.9/100 630 0 630
08% £¢ S0ETR HTHIA
0,000,0002! *1.08/100 324 0 324
083 HH ANSAUFUR JICHY LXBA
20,000,0002! *1.08/100 216 0 216
O8F oitfela YR HTFBA
0,000,0002! *1.08/100 324 0 324
=2 sxe 837,702 816,582 21,120

SolCHE X+ 71,500 61,500 10,000
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206 T 2 bl 71,500 61,500 10,000

01 HEHI 71,500 61,500 10,000

422 HYT 7 15,000, 0002 15,000 5,000 10,000

S2ny sz 766,202 755,082 11,120

201 L2yl 115,182 104,062 11,120

01 Ak 22l 90,982 89,862 1,120

O3 29 +¢ 70,0002 8 +43] 2,240 1,120 1,120

02 B2l 24,200 14,200 10,000
OLURUEEE 28 © L AR5 223

10,000,000%! 10,000 0 10,000

SEX N 5,307,586 14,860,218 447,368

p 10,508,500 10,503,500 0

= 1,337,000 1,337,000 0

2 3,467,086 3,019,718 447,368

AP SHOE N L X 5,307,586 14,860,218 447,368

p 10,508,500 10,503,500 0

= 1,337,000 1,337,000 0

2 3,467,086 3,019,718 447,368

EEEE B 5,315,832 5,205,832 110,000

p 3,642,630 3,642,630 0

= 471,000 471,000 0

2 1,202,202 1,092,202 110,000

201 L2yl 33,000 35,000 A2,000

x 24,900 24,500 400

< 1,170 3,150 A1,980

2 6,930 7,350 A420

01 Ak 22l 13,000 0 13,000

OXIS S E 3 H A 13,000 0 13,000

L 13,000, 0002 13,000 0 13,000

p 9,100 0 9,100

= 1,170 0 1,170

2 2,730 0 2,730

03 BAL2 bl 20,000 35,000 A 15,000

OXIS LS E 3 A 20,000 35,000 A15,000

— YR 20,000, 0002 20,000 35,000 A15,000

x 15,800 24,500 A8,700

= 0 3,150 £3,150

2 4,200 7,350 £3,150

301 LPBAI 15,000 15,000 0

x 8,700 10,500 A1,800

< 3,150 1,350 1,800

2 3,150 3,150 0

09 BAAIHI 2 & S 5,000 15,000 210,000

OXIS LS E 3 A 5,000 15,000 210,000

— Y 5,000,000 5,000 15,000 £10,000
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X 3.500 10,500 A 7,000
= 450 1,350 900
2 1,050 3,150 A2,100
MBI 243 10,000 0 10,000
OXSLESE3 I AL 10,000 0 10,000
—ANRTEEH X2 1,000,000& *103 10,000 0 10,000
Xl 5,200 0 5,200
= 2,700 0 2,700
2 2,100 0 2,100
401 Al EHIL 2 THH 40,000 0 40,000
01 Al ] 39,568 0 39,568
OXNSALHESLE| H AL (01 X2 AY) 39,568 0 39,568
— JIOFA AR S HHI ALY 39,568 0 39,568
- A2I0FAHEE MY L 021015007
=Py 39,568,000 39,568 0 39,568
03 Al& 20 b 432 0 432
OXNSALHESLS| AL (01 X2 AL) 432 0 432
— JIOFA AR S HI ALY 432 0 432
AC0tA TR FHH L OfRI0IS01017
=Py 432,000 432 0 432
403 XXM S X201 & 5,225,832 5,155,832 70,000
X 3,607,630 3,607,630 0
= 466,500 466,500 0
2 1,151,702 1,081,702 70,000
02 BII2SOHS X2 X2 & A HI 5,225,832 5,155,832 70,000
OXNSALHESL3 A ALY 5,225,832 5,155,832 70,000
— Ao 1,064,200,000 1,064,200 994,200 70,000
Xl 696,000 696,000 0
== 90,000 90,000 0
2 278,200 208,200 70,000
405 X6k F S 2,000 0 2,000
Xl 1,400 0 1,400
= 180 0 180
= 420 0 420
01 et LS EF S 2,000 0 2,000
OXNALESL3 ALY 2,000 0 2,000
-y 2,000,0002 2,000 0 2,000
X 1,400 0 1,400
== 180 0 180
2 420 0 420
SEZTANELS(LEXR) 5,203,314 4,868,314 335,000
X 3,402,500 3,402,500 0
= 442,000 442,000 0
2 1,358,814 1,023,814 335,000
201 Lt 53,000 35,000 18,000
X 23,230 24,500 A1,270
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= 2,870 3, 150 2780

2 26,900 7,350 19,550

01 At 22l 5,000 0 5,000

OXNHLHSH3 HAY 5,000 0 5,000

— XS ATX 5,000,000 5,000 0 5,000

X 3,230 0 3,230

< 1,170 0 1,170

2 600 0 600

02 ZZ 2l 20,000 0 20,000

OXNS NS HA (0 XHZAY) 20,000 0 20,000

— AIHATHXI S S HH ALY 20,000 0 20,000

SHMEZH 2Y2elbl 20,000,009 20,000 0 20,000

03 A2t 28,000 35,000 A7,000

OXHLESES A ALY 28,000 35,000 A7,000

- HE=% &AM 28,000,00094 28,000 35,000 A7,000

% 20,000 24,500 £ 4,500

= 1,700 3,150 A 1,450

2 6,300 7,350 A1,050

301 YptE A 15,000 15,000 0

X 10,370 10,500 A 130

< 1,450 1,350 100

= 3,180 3,150 30

09 BALAIHI 2 &2 5,000 15,000 10,000

OXHLESH3 A AL 5,000 15,000 10,000

- HE=8 AN 5,000,000 5,000 15,000 £10,000

X 3,500 10,500 A7,000

= 450 1,350 £900

2 1,050 3,150 A2,100

11 JIEH2 &3 10,000 0 10,000

OXHLESH3 A A 10,000 0 10,000

- ARFESH X 10,000, 0002 10,000 0 10,000

X 6,870 0 6,870

< 1,000 0 1,000

= 2,130 0 2,130

401 A& HI L R O bl 40,000 0 40,000

01 Al H 39,568 0 39,568

OXN eSS HA (0 KHZAY) 39,568 0 39,568

— MIIHATHX E S HH ALY 39,568 0 39,568
HLAZ 2o 2 BENES &3

39,568, 0002 39,568 0 39,568

03 AlE 2 TH b 432 0 432

OX NS HA (0 KHZAY) 432 0 432

— AHATHX B S H ALY 432 0 432
HLAZ DtEo ¥ ZBEGES &3

432,0002 432 0 432
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403 TR S H S K20 ™ 5,003,314 4,818,314 275,000
X 3,367,500 3,367,500 0
= 437,500 437,500 0
2 1,288,314 1,013,314 275,000
02 212 SOl H 3 K= X 91 € AL B 5,003,314 4,818,314 275,000
ONYL SN (0| RZAL) 225,000 0 225,000
— EHNHATHR S & H 6 ALY 225,000 0 225,000
ZHUZR GSHIY AXFOLT
225,000,000%! 225,000 0 225,000
OXS NS5 H A 4,868,314 4,818,314 50,000
~ QA0 ATHX (RABIOIS & ZHAY)
1,606, 467,000 1,606,467 1,556,467 50,000
X 1,086,700 1,086,700 0
< 141,000 141,000 0
2 378,767 328,767 50,000
405 TH&HF St 2,000 0 2,000
X 1,400 0 1,400
= 180 0 180
2 420 0 420
01 AU 2EH St 2,000 0 2,000
ORI % &S 5| H A 2,000 0 2,000
—HEH AWK 2,000, 0002 2,000 0 2,000
X 1,400 0 1,400
< 180 0 180
2 420 0 420
U MO ENLAY X2 19,340 6,972 2,368
201 YEr2 | 9,700 9,060 640
01 Ak 22l bl 9,700 9,060 640
SELT: 3,200,0002 3,200 2,560 640
202 04t 8,640 6,912 1,728
01 S LHOIYI 8,640 6,912 1,728
OYBHS MO EAY ARET 8,640, 0002 8,640 6,912 1,728
WRES (AL D) 42,679 0 42,679
RSP 42,679 0 42,679
EXZEE3 42,679 0 42,679
802 Bt &t 2 JI Ef 42,679 0 42,679
02 Al - SHEE3uez 42,679 0 42,679
020178 XI5t OISAEZAL 2 X 24
=AY CHEEI Y 801,0002! 801 0 801
EYT=CYEINY X2 urE
246,0002! 246 0 246
OMAAS X AT (HHABH=X) X3 o
o 36,778,748 36,779 0 36,779
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